



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 2 = 15$
 $15 - 2 = \underline{\quad}$

2) $\underline{\quad} + 4 = 8$
 $8 - 4 = \underline{\quad}$

3) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

4) $\underline{\quad} + 8 = 13$
 $13 - 8 = \underline{\quad}$

5) $\underline{\quad} + 2 = 5$
 $5 - 2 = \underline{\quad}$

6) $\underline{\quad} + 1 = 9$
 $9 - 1 = \underline{\quad}$

7) $\underline{\quad} + 11 = 13$
 $13 - 11 = \underline{\quad}$

8) $\underline{\quad} + 7 = 13$
 $13 - 7 = \underline{\quad}$

9) $\underline{\quad} + 5 = 7$
 $7 - 5 = \underline{\quad}$

10) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

11) $\underline{\quad} + 13 = 17$
 $17 - 13 = \underline{\quad}$

12) $\underline{\quad} + 7 = 12$
 $12 - 7 = \underline{\quad}$

13) $\underline{\quad} + 3 = 18$
 $18 - 3 = \underline{\quad}$

14) $\underline{\quad} + 4 = 15$
 $15 - 4 = \underline{\quad}$

15) $\underline{\quad} + 2 = 12$
 $12 - 2 = \underline{\quad}$

16) $\underline{\quad} + 4 = 12$
 $12 - 4 = \underline{\quad}$

17) $\underline{\quad} + 10 = 19$
 $19 - 10 = \underline{\quad}$

18) $\underline{\quad} + 4 = 13$
 $13 - 4 = \underline{\quad}$

19) $\underline{\quad} + 6 = 10$
 $10 - 6 = \underline{\quad}$

20) $\underline{\quad} + 12 = 16$
 $16 - 12 = \underline{\quad}$

Risposte

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 2 = 15$
 $15 - 2 = \underline{\quad}$

2) $\underline{\quad} + 4 = 8$
 $8 - 4 = \underline{\quad}$

3) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

4) $\underline{\quad} + 8 = 13$
 $13 - 8 = \underline{\quad}$

5) $\underline{\quad} + 2 = 5$
 $5 - 2 = \underline{\quad}$

6) $\underline{\quad} + 1 = 9$
 $9 - 1 = \underline{\quad}$

7) $\underline{\quad} + 11 = 13$
 $13 - 11 = \underline{\quad}$

8) $\underline{\quad} + 7 = 13$
 $13 - 7 = \underline{\quad}$

9) $\underline{\quad} + 5 = 7$
 $7 - 5 = \underline{\quad}$

10) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

11) $\underline{\quad} + 13 = 17$
 $17 - 13 = \underline{\quad}$

12) $\underline{\quad} + 7 = 12$
 $12 - 7 = \underline{\quad}$

13) $\underline{\quad} + 3 = 18$
 $18 - 3 = \underline{\quad}$

14) $\underline{\quad} + 4 = 15$
 $15 - 4 = \underline{\quad}$

15) $\underline{\quad} + 2 = 12$
 $12 - 2 = \underline{\quad}$

16) $\underline{\quad} + 4 = 12$
 $12 - 4 = \underline{\quad}$

17) $\underline{\quad} + 10 = 19$
 $19 - 10 = \underline{\quad}$

18) $\underline{\quad} + 4 = 13$
 $13 - 4 = \underline{\quad}$

19) $\underline{\quad} + 6 = 10$
 $10 - 6 = \underline{\quad}$

20) $\underline{\quad} + 12 = 16$
 $16 - 12 = \underline{\quad}$

Risposte1. 132. 43. 184. 55. 36. 87. 28. 69. 210. 1911. 412. 513. 1514. 1115. 1016. 817. 918. 919. 420. 4